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1. Semester 1: Vocabulary

i. _______MEDC

ii. _______LEDC

iii. _______Crude death rate

iv. _______Crude birth rate

v. _______Fertility

vi. _______Doubling Time

vii. _______Natural Increase Rate

viii. _______Population Pyramid

ix. _______Natural Capital

x. _______Renewable 

xi. _______Non-Renewable 

xii. _______Replenishable 

xiii. _______Sustainability 

xiv. _______Sustainable Yield 
xv. _______Nitrification 

xvi. _______Denitrification 

xvii. _______Nitrogen Fixation 

xviii. _______Soil
xix. _______Wind Break

xx. _______Terracing 

xxi. _______Limestone

xxii. _______Subsistence Farming

xxiii. _______Industrial Farming

xxiv. _______Carrying Capacity

xxv. _______Overpopulation

xxvi. _______Leaching
xxvii. _______Ecological Footprint

2. Fill in the table below:

	Soil Texture
	Nutrient Capacity
	Water Holding Capacity
	Infiltration
	Aeration

	Clay


	Good
	Good
	Poor
	

	Silt
	
	Medium
	
	

	Sand
	Poor
	
	
	


3. Provide an example for each of the following:


A. Renewable: 


B. Non renewable:


C. Replenishable: 
4. Identify each type of population growth in the age sex pyramids below (rapid, stable, decline) and name a country that follows that model. 
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C— This layer usually has lots of large rocks mixed in with soil deep underground.

O — Thisis the top layer, the “organic” layer which is made up of dead plant mater for
the most part.

A~ This is the second layer of soil, what we call the “top soil”. It too has lots of organic
‘matter mixed in and is usually darkly colored.

D - This is the bedrock that lies beneath the soil. In some places this can be quite near
the surface and in others i is very very deep.

B - Subsoil layer. There isn't much organic stuffin here. Sometimes the transition
betwween top soil and subsoil is very sharp and defined and sometimes they fade
into one another.
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5. Describe all the stages (1-5) of the demographic transition model. Label the graph with the missing stages. 



6. What is the formula for calculating the natural increase rate of a population? (YOU MUST REMEMEBER THIS!! I WILL NOT BE PROVIDED ON THE TEST!!)

7. Calculate the natural increase rates for the populations below (i, ii, iii, iv). Show your work!
      

Crude birth rate
              Crude death rate

i

12


32


ii

32


12


iii

12


14


iv

14


12

8. Calculate the doubling time for a population with a natural increase rate of 8 %. Remember the Rule of 70! Is the population most likely to be a MEDC or a LEDC? Why?
9. Explain the effects each of the following has on soil:


A. overgrazing


B. deforestation


C. leaching

10. Explain how each of the following help to prevent soil related issues


Terracing:

Contour plowing: 

Windbreaks:

Limestone:

Rotating Crops with Legumes:
11. What is the most important organism in the nitrogen cycle?
12. Define the following terms: 

Nitrogen Fixation:

Denitrification:

Nitrification:

Ammonification:
13. List three types of energy sources and provide one advantage and one disadvantage for each. 
	Energy Source
	Advantage
	Disadvantage

	
	
	

	
	
	

	
	
	


14. What are some reasons for the population boom we see in the world today? 

15. What statistic do we use as an overall health indicator of a country? 

16. What was the main purpose of the Rio Earth Summit and Agenda 21? 
17. What is the formula for determining future population? Be sure to define each variable. (Hint: NERT)
18. A 2011 data report shows that a population of 1,450,000 has a growth rate of 4.0%. 

a. What will the population be in 2012?

b. Is this country a MEDC or a LEDC? Justify your answer. 

19. In a game reserve in Africa where hunting is allowed the total population of elephants is 1050. During the course of a year researchers counted 40 births and 55 deaths. During the same time 22 young bulls left the reserve and 15 previously unknown elephants appeared. 


a. Calculate the sustainable yield in this example. 

b. During the year hunters killed 27 elephants for trophies. Is this sustainable utilization? 

20. For each of the following, label as either renewable, non renewable or replenishable on the line provided.

corn crops__________________

groundwater___________________

platinum_______________________

oil ___________________

ozone layer_________________

deer population_________________




trees ______________________

uranium_______________________

21. What are the three ways natural capital has value to humans? 

22.  What are the major components of soil? 
23. How is soil formed? (3 Ways)

24. Name two major soil issues and ways to prevent these issues. 

25. List the major soil particles from smallest to largest. 

26. Explain why our soil unit is referred to as “the soil system”, and not simply just “soil” or “dirt”. 


27. Label the soil diagram to the right with the different horizons 

(A, B, C, and O). D is bedrock. Describe each layer. 
28. What effect will each of the following have on population size?

1. Increase in the proportion of women receiving higher education
2. Increase in average income
3. Decrease in the average age of marriage
4. Increase in birth rate
5. Decrease in death rate
6. Increase in the average age of marriage
29. Explain how ecological footprint is calculated using the per capita requirements. Provide the per capita equations as well.
30. Compare and contrast the efficiency of terrestrial and aquatic food production systems.
31. Compare and contrast the inputs and outputs of materials and energy, system characteristics, and evaluate the relative environmental impacts for two named food production systems. (American cereal farming v. SE Asia subsistence farming, MEDC beef production v. Maasai tribal livestock use, or Norway/Scotland salmon farming v. Thailand rice-fish farming). 
Bank – Use the definitions below to match with the appropriate term on the left. 


A. (Growth + Recruitment) – (Death + Emigration)


B. The number of births per 1000 individuals in a population per year


C. Farming system that requires much land, fossil fuels and monocrops


D. A diagram used to show the ages and sex of distinct groups in a population


E. Creating flat areas on sloped land to slow the movement of water 


F. Living off of the natural income without depleting the natural capital


G. Wealthy more economically developed countries 


H. A natural resource that cannot be restored as quickly as it is used


I. Planting trees around the boarder of a field to prevent wind erosion


J. Number of births per 1000 women of child bearing age


K. A mixture of organic matter, sand, silt and clay particles 


L. Bacteria converting ammonia into nitrates and nitrites 


M. The number of deaths per 1000 individuals in a population per year


N. Maximum population that can be sustainably support without depleting resources


O. A term used to describe natural resources that are a product of the biosphere


P. Used to raise the pH of soil and make it less acidic 


Q. Poor less economically developed countries


R. A non-living resource that can be restored as quickly as it is used


S. Bacteria converting nitrates into atmospheric nitrogen


T. Rate of growth for based only on birth rates and death rates


U. Transfer of soil nutrients into lower soil horizons �V. Conversion of atmospheric nitrogen into ammonia by bacteria  


W. Amount of time it takes for a population to double 


X. Available resources cannot support the number of people in the area 


Y. A living resources that can be renewed as fast as it is used


Z. Farming enough to only support ones family and community


AA. A measure of human impact on Earth's ecosystems. 





Stage 1:


Stage 2:


Stage 3:


Stage 4:


Stage 5:





�



































�





D








